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EE 3340
Homework Problem #044
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(a) Apply current division to express 1. and I, in terms of I (/Not in terms of Vs.).

- - ‘-( Lgo (_‘ OO
Lo = . S I 2 ,_Lz—- 3 237°
} o ae .3: 5 [t 3 ks 5 )-26.81° b= SR G,
1@ ] ___.)--———-'d - IS - s l:_io"’ 'i = .G -‘53" B
Sis o g l=51® ° (== .

(b) Using I as reference, accurately sketch a relative phasor diagram showing I, I, and I

and verify that the vector sum I, +1. =1 is satisfied.

(c) Now, fully analyze the circuit to determine I and then accurately sketch the absolute phasor

diagram with I, I,, and I, drawn according to their true phase angles.
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Ve 1 0 AC ({2*sgrt(2)} 45

Rl 4 7 3

C 2 0 {1/3}

R2 2 0 4

LAC LIN 1 {1/ (2*pi)} {1/ (2*pi)}
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--- AC Analysis --- k

frequency: 0.159155 Hz

V(1) : magqg: 2.82843 phase: 45° voltage

V{(2): mag: 1.40329 phase: 15.2551° voltage

I(C): mag: 0.467764 phase: 105.255° device_ current

I(R2): mag: 0.350823 phase: 15.2551° device current

I(R1l): mag: 0.584705 phase: 68.3852° device current

I{Vs): mag: 0.584705 phase: -111.615° device current




